|
REFERENCE SPECIFICATIONS
-NFC 93425 (in compliance with HE 501) Series ~
PHYSTCAL CHARACTERISTICS

-INSULATOR MATERIAL: THERMOPLASTIC UL94V0 ‘
Shell size: E ABZC D‘J
-CONTACT MATERITAL: BRASS see Sheet 2

GOLD OVER NICKEL

~

Front accessory definition
see sheet 2

Blank wlIfhout accessory
-ACCESSORIES: BRASS, cadmium plated yellow passivation | |
F cfloating mounting
-SHELLS: STEEL dm | lated | lvat
,ycaamium plarte ye ow passStvarion L :fhf@(}ded imgerf M3
FLECTRICAL CHARACTERISTICS 0 threaded insert UNC 4-40
~NOMINAL CURRENT: [0 V female screw UNC 4-40

~-CONTACT RESISTANCE: <= 7.3 m ohms
Contact number (see sheet 2) =————

-~CONTACT/CONTACT >=1000 V 9.15,25.37.50
“CONTACT/GROUND 521200 V
Contacts -
~INSULATION RESISTANCE: >25000 MOhms
ENVIRONMENTAL CHARACTERISTICS P i
- CLIMATIC CATEGORY: 55/125/56 Plating =
TEMPERATURE RANGE -55°C TO +125°C Blank csolder bucket 500 mOfiﬂg\S/UﬁmOfiHQS

043 csolder bucket 500 matings/unmatings
for harsh environment

DAMP HEAT STEADY STATE 56 DAYS
SALT SPRAY 48 HOURS
MECHANICAL CHARACTERISTICS

S .

Copyright FCI. Fc

ma

- RETENTION AGAINST TORQUE: - Threaded insert: 0.7 N.m minimum
- Female screw © 0.5 N.m minimum
[ ]
‘ J
2o WAY for Lxample
surface - tolerance std |projection
www. fciconnect . com 1SO 1302 1SO 406  1SO 1101 @76 mm
TOLERANCES UNLESS OTHERWISE SPECIFIED
Dr |M PESSON 2006/11/14 0.X +0.3 size Scale
fTLSJﬁM;&ZNSﬁHAEW P LEGARE 2006711714 IOV L ivear oo +£0. 1 A7 201
Chr | P LEGARE 2006/ 11 /714 |0 ‘if 0. XXX +0.05 ECN LS08-0044
B |tso7-0273|mpE [2007/10/30 ‘
150 00advre (008702704 Appr| P LEGARE 2006/ 11 /14 | Product family - | Spec ref
S I E MALE DM HES501 series [° e
FC) |- SUB MALE DM HESOI series |°  (0).g637-1737
V} “ with solder bucket < C
catalog no - CUSTOMER Isheef | of 4
2 3 4 5 6 1 PDM: Rev:C statusReleased 8 Printed: Apr 21, 2009




S .

Copyright FCI. Fc

ma

zh
Aq ‘ § ﬁq ‘ radial gap 0.8+0.12 I Aﬂ {\ﬁ 1
Z ; ‘ Ll L,LJ ‘ — -+ ‘ Ll L,LJ ‘ — : ‘ Ll s ‘ — e J,J — -
= - | i = | : | 7 e rr
i ( 1 > ae 2 W > - W > W > i
] | [;—= | = B | i%y — I e — f O —
% % f { - % f %
‘ axial gap 0.25+0.15 ‘
#3.10 &0 | ” :
"RONT ACCESSORY Bl , , , L roeert WS
ank without floating mountin | _
F g g O nsert UNC 4 4¢ V  female screw UNC 4. 40
shell size Contact number
FRONT 0 XX
PART NUMBER ACCESSORY
DxMx x P without i 09
D*MF x xP floating mounting A ‘5
D*ML x xP insert M3
i 2D
DxMOx x P insert UNC 4.40
D*MVx xP female screw UNC 4.40 ( 37
) ol
FRONT
PART NUMBER ACCESSORY
DxMxxP043 without
D¥MFxxP043 floating mounting
D¥ML xxP043 insert M3
DxMOxxP043 insert UNC 4.40
DxMVxxP043 female screw UNC 4.40
CROSS REFERENCES HES0I and FCI
/ FRONT
HES01 P/N FCI“P/N ACCESSORY
HEDSO INx xAS D*Mx xP without
HESO I FxxAS D*MF x xP floating mounting
surface - tolerance std |projection
V\/V\/V\/_{CiCOﬂﬂeCJr_C()m SO 1302 \/ SO 406 SO 1101 mm
TOLERANCES UNLESS OTHERWISE SPECIFIED @76 D
Dr |M PESSON 2006/11/14 0.X +0.3 size Scale
Eng | P LEGARE 2006711714 | CUARL L inear [ o £0. | A7 2
Chr | P LEGARE 2006/ 11 /714 |0 ‘if 0. XXX +0.05 ECN LS08-0044
Appr| P LEGARE 2006/ 11/14 | Product family - | Spec ref
& [ SUB MALE DM HES0! series |- ter
- ! - > COI-8637-1131
OCALE 4 FgJ T with solder bucket < C
catalog no CUSTOMER Isheef 2 of 4
2 3 4 5 6 PDM: Rev:C statusReleased 8 printea: Apr 21, 2009




2 3 4 6 1 8
- DIMENSTONS FOR SHELL £, A B,C
A =
— Dimensions are in millimeters
| =
‘ — She 11 [Number of | 4 ' {g 0 e T 6l TN N
size contacts i
@ ....‘ @
] RS [ 09  130.43 [16.79 [24.99 |10.47 | 59 %" 1 19.02 0. 80
f — Alo15 138.76 |25.12 133.32 | 10,47 | 5.9 " | 27.25]0.80
. H A P5  |52.65 [38.84 [47.04 |10 43| 57 0 | 41,02 |0 80
C| 37 168.94 |55.30 [63.50 | 10.56 | 5.7 ‘&% | 57.45|0.90
- T
. VEVEVEVEVEVEVEVEVEVEVEYEY JI
e A i -
D
[ C L !
- i
N | 3Tshel | 9-15
214 shell 9-15 .
E 1 I ”
‘.\\ 7 /mmmm@@@@@@@@@ AR
0) - any \\W Wf“ e _ ] _ any
4 - S Y A
. T
= N r | \ 1/
= surface - tolerance std |projection
? www . fciconnect com 1SO 1302 \/ SO 406  1SO 1101 mm
§: 2 76 She ‘ ‘ 257 37 TOLERANCES UNLESS OTHERWISE SPECIFIED @76 D
© - - Dr | M PESSON 2006/ 11/14 0.X 103 |size Scale
F .38 shell 25-37 tng | P LEGARE 2006/ 11714 I™CU R Linear [ ox | 2o A2 2]
—— - Chr | P LEGARE 2006/11/14 |0 [+ 0.XXC | 4005 ECN LS08-0044
Appr| P LEGARE 2006/ 11/14 | Product family - | Spec ref
o - ° Rev.
scale 3 F9 E SUB MALE DM HESOI Séries . c0|_8637_|737
ﬁy T with solder bucket < C
catalog no CUSTOMER Isheef 3 of 4
2 3 4 5 6 PDM: Rev:C statusReleased 8 printea: Apr 21, 2009




2 3 4 ) 1 8
DIMENSTONS FOR SHELL S/t D (50 CONTACTS)
A
.16
|38
— EJ Y — -
N [
D DD DODDDDDDOODDO @D, =
%@/ DD DD DDDDDODD OO @, @ C*;O
] LK@@@@@@@@@@@@@@@@@ -
f‘ ] ‘ /-
4051
n 00,07,
+0. 76
B 06.93
C A -
s| o = =
= | YEVEVEVEVEVEVEVEVEVEVEVEVEVEVEYEY ‘ 2 S ﬂﬂﬂ
‘\ f \Li*\ @  —— I
D N |
v - =
TR - ~
N 10,25 =
52.680 S o
4 ™ -
E -
5 /@ea@@@@@@@@@@@@@@aw\
b‘)\\ — - 60D oo eDoe e s e’ |-G
(T - | R S I I S S S R R R R
R \_ | /
= sur face - tolerance std rojection
i: www.fciconnecﬁcom SO 1302 \/ SO 406 SO 1101 p@jg mm
§ — —— ———— TOLERANCES UNLESS OTHEORYVX\SE SPECi\OFED — ‘_.ch‘e
F Eng | P LEGARE 2006711714 IOV U ivear oo £0. | A7 201
Chr | P LEGARE 2006/11/14 0°\i2° 0. XXX +0.05 ECN LS08-0044
Appr| P LEGARE 2006/ 11/14 | Product family - | Spec ref
o - ° Rev.
scale 3 F9 = SuB MALE DM HESO0I series - COl1-8637-1131
ﬁy T with solder bucket = C
catalog no CUSTOMER Isheef 4 of 4
2 3 4 5 6 PDM: Rev:C statusReleased 8 printea: Apr 21, 2009




